% T EHR
(% 151415]

A anene| 27| B3
1] K B ARKY | #E 0 0
2 1%z ) @
3 E# Eul @ 1

f %8 2 0|1

a3 0| 2|1

[[[:3iv2 1 3| 2

[%15:&15]

B B | WTE | BAR
11 ExF (&= 0 0
2 U TE & @ 0
3| ®mMNER |x#H| ® | ®

f %8 2 |1 0

a3 0| 1 2

[[:3iv2 1 2 | 3

B BEAX
B g 53
[E 35 &)

A RE| 2G| mxw
1 ESe L] 0 1
2 ~4 sl @ ®
3 BmAM |x#| @ | 1

5 2 0|1

=L 0| 2 | 1

[[:3iv2 1 3| 2

3

2

|
>+ &k
|

2|

|
ww
|

(=]
—_

Fik & ok

EBsm |2

B1
@

%
3 o
ﬁ

[ii]

X

0 #

[E45415] Ri5
C wams| P K5 | AEE
1 k¥@d R 0 2 0
2 I==mn = ® ® | O
3 ‘5 mur| @ | 0 0
4 HARE |wee ® | 0 ®
2 3 |X}im|l 2 | 1
=E 2 0 |Xim|l 1 2
JE AL 1 | Ri;| 2 3
[F3HEH]
B & | P | Bk #rr
1 (] Rig 0 1 1
2 FF F @ 1x | @
3 % 3t | @ | 1% ®
4 %o R L ) 0 1
R %5 3 0 0 2
ax 0| 2| 2|1
B 5z 1 4 3 2
BoaE




EH B2 RS 2 31
ilzN:d FRH ABH % s B4 PR e PR e
57 RiFAAKRT RE E4E RE 5 15 15 RlEE L Rl
T RE RE 1 R AR R [P KA
[EPN:3 BEFRE FRE BFKAH FRAE EFRA FRA EFKH FRE
50kgik EHE OB/ Iz 75 il =8 El _AE #HT neE WA RE 5
55kgik eA Mt szl /NS B4 g K& Iz 78 % X AA%
60kgik ER K RigH KX R BER AR Bt & ER i Ez aN=
= | 66kghk B BEE B4 =2H K4 (i gE)Il B RRIE X AR AAS
T 73keik w BE B4 AR E AR RN ne Els  B31E =21
81kgithk A BERd RigH KX AR 532 & OFE ]E5 TH B BIER
90kgik ne wd& RigH X 2l M Bk Bs A EERS milll B s
90kgiBHk T A&t 3 i —iE IH meg K& 5= 55 = RIEFE L
40kg#k IR OHER M4 A 2z B4 BAR BR J11#8
44kgik T X7 RAKHE il 2 E4E ZN: ne "R EP TR
48kgik T =4 RAKHE A R i SETEY B Kb E=F e
% | 52kgik E=Ei (i BR & 1 TR BREE [P S =5
T s7kek RBN "o eS| I tFE Rl AKX WE Hit PaRAS WA B aoal
63kgik A LE HRIR TH 5 & BRE KFE KA B KHE SR
70kgitk Min HFRE =yan NGNS 74 RE W ET 1
70kgitBHk RAE & LRld =R =k IR NA Wi RE ats B¥ B—




